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SECTION -1
Tue - I
CHILD DEVELOPMENT AND PEDAGOGY
e faenra wa fHrermeme
There are 30 questions in all in this section.

All questions are compulsory.

WMEE H TA 30THE |

At 79 st € )

1. ‘Toy age’ refers to
(A) Early childhood (B} Late childhood
(C) Babyhood (D) all of these,
@A) vd STeIrEEL ®i B) ST SeaEER i
(ORI EICE A (D) | =TH-E ||

2,  Which of the following is not a characteristic of early childhood ?
(A) Pre-gang age (B) Imitative age
(C) Questioning age (D) Play age.
=1 & @ FE-4 g sreaeEen o R ] © 2
(A) T/ TS H T ol ST B)  STIH H hi ST
Q) TS T I e (D) @& I S |

3. In late childhood period children understand the conversion of which physical
entity(ies) ?

(A} Mass (B) Mass and number

(C) Number (D) Mass, number and area.
I e H e fifaw axgetl & e emavas o § aftads wwem e € 2
(A)  FEEH (B) TUAM IR dEm

) ¥ (D) T=AM, & S A |

4.  The meaning of development is
(A) progressive series of changes
(B) progressive series of changes as a result of motivation
(C) progressive series of changes as a result of motivation and experience
(D) series of changes as a result of maturation and experience.
T @1 aref ¥
&) UfiEdHr *t TR S
(B) AT & HEEEY B A qREdH] i SR el
() AR wE STME % FEEY T AT TREdAT i A e
(D) Ufygear Ud 3V % Herawd g A Uil it Ee |
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5. Which of the following statements is not correct about development ?
(A) Each phase of the development has hazards
B) Development is not aided by stimulation
(C) Development is affected by cultural changes
(D) Each phase of the development has characteristic behaviour.
e F o i A A eR-w i wa = § 2
(&) fowm =t TAH ST F T T ¥
(B) faomE SFEN / Sg@I A 9 A& BT
© Towm dienfas ufad @ gufae €1 €
(D) fawmm & yd= sEed =t g fadmad 2 €
6. Which of the following development tasks is not appropriate to the late childhood ?
(4) Learning physical skills necessary for ordinary games
(B) Achieving a masculine or feminine social role
(C)  Achieving personal independence
(D) Learning to get along with age-maites.

e d 9 F-T s S SW SeaEs RS TEEEEl § 2

(A)

W Tell % Tl savas TR Feeand, ate

frm T &

UL (101

>

(B) eulfad a1 forifaa aries fasmiet SEwm e
(C) dafee meAfayEr ym &
(D) oT9 THIYW STAH! & 91 @Al GrEAn |
7. Training in advance of normal maturation is generally
(A}  highly beneficial with respect to performance of the common skills
B) harmful from an overall point of view
{C) beneficial from a long range point of view
(D)  beneficial or harmful depending on the method used in training.
| aRvEE | TEe WiEE S g
() aE Fee % fe % ded F aga e e
B) F fATN FX TTHRE T §
() <refemferr g | enwer B ® ,
(D) <9ER g A B ERe, T8 @ W ik v § & ufvew 7 foaw voer =1 fafa = =
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8.  Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in
response to bolt. Jumping of Raju is an example of learning theory of

(a) Classical conditioning (B) Operant conditioning

(C)  Trial and Error ‘ D) None of these,

ot a9 1 TN At fagHt F WE TEF FT @@ T faee mmewd § ot wewa W o
S B | TN IR §F 9 SO0 § | IR-9R IE T T § 1 R 3 3w % wwmmw faeed

FIHd § | T faset ) T gt 3oad ¢ | U5, F Soad W R fagr s s
? 7

(A) R ST B)  Toramga sgaem
C) WA A D) T ¥ % Tl |
9.  Which of the following is an example of positive punishment ?
{d)  Redicule by friends (B) Loss of time with friends
Q) Ceaée nagging (D) All of these.
TR TUE &1 95 | H -9 IWE & 2
(&) o & g0 SwEW B) o ¥ Wy SRR wE
() wFEE Feern S8 & (D) [&d T asht |

10. Which of the following statements.is not appropriate to motivation as a process ?
(A) It causes a person to move towards a goal
(B) It satisfies the person's biological needs
(C) It helps in achieving a psychological ambition
(D} It keeps away from an unpleasant situation.
frm B ¥ FA-m wem arfiRon e wimen ¥ v o sugw i § 2
(&) I A w A AL A TR
(B) ¥ ARE Tt YR SIawashaisl &1 6y L ¢
(C) T8 AT HATRiaN T WE HA H Were H ©
D) ¢ =fe H i fliageat |

11. The temporary change in behaviour due to continuous exposure to stimuli is called

A) Habituation (B) Learning

(C) Temporary learning (D) Motivation,

et 3% & Fr fed 99 | =R ¥ €1 aren s afteds FEan ©
(A)  FYIEE B)  Hfay

Q)  oTRam sfenmm (D) Ao |
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12,

13.

14,

15.

6 (4]

The teachers should not use which of the following ways to change the attitudes of
students ?

(A}  Coercive persuasion

{B) Repetition of idea or assertion

{C) Endorsement by an admired person

(D) Association of the message with a good feeling.
Ferenferl st SAfgfe ® aReadq & fau f= o § fow fafa s @ sieams =1 78 e 9ife 2
@A) TaE R fedt 9@ = fa=mr % oo ot s

(B) Tl foa=m =il S8l S1ee ggarges SAaeR

() Tl weiwHg =17 % gR1 guedq oo @iwh

(D) HeW % W WEwY T HE )

Which of the following statements regarding achievement motive is true ?

(A}  Achievement motive is necessary for survival

(B) If the satisfaction of personal potentialities is emphasized, the achievement

motive may be classified as a growth motive
(C} If the stress is on competition among people, the achievement motive can be
considered a social motive

(D) All of these. :

Iuefer AT & Ty § 7 § § SF-w w9 R ?

() e AR Sfifaa W % faweTavess &

(B) A% =feTa awarel &t J=fE Agcqul € o SHers ST 1 fahrd e a1 S T ¥
() 3t =afwal & ge wiaaiiman | o €, d SYasy ST9Uih Sl |Efss siTis &gl =

Hohell &
(D) T G &t |
During 6 to 10 years children start taking interest in
(A) Religion (B) Human body
(C) Sex (D) School.
69 10 79 w o7een | deish 9 o WRE I §
(&) oA B) = IR H
(C) M gl (D) oo H

Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?

(&)  Trait theory (B) Type theory

(C) Psychoanalytical theory (D) Behaviourist theory.

% fagra =aw wwa & fF A9e afeass w9 &1 92t 9gm & gum ¥ W fF erfusim: foft
@ ¥ ud U A % W E 2

@A) T fas B) WK fag=

© wAfaweryorerE g (D) =EERER fag |
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16. Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?
(A)  Projection (B) Displacement
(C) Reaction formation D) Sublimation.
T 0N I He € T 99 TEmRT FI T A € A A Yo F fau v 9 € | 9 9% 7 T
| 31=81 Hegd T8 Hd, ST IR B 7 # | % gfaen = vfeefm a2

@A)  wEI (B) - Tazome=
() wffsman Fio (D)  SEIRT !
17. Adjustment means accommodating oneself to various circumstances in order to satisfy
(A)  others (B) motives
(C} goals (D) needs.
FHESH ¥ qo W w fafve oifefel § sagen s € @ e s as
(a) TR w B) YR H
(C) <& A (D)  STawFAS & |
18. Which of the following behaviours is not a manifestation of emotional disturbance ?
(A) Delinquency (B) Bullying nature
(C) Truancy (D) Autism.
= # | -9 SHIER HETHS T I TR 81 H 5 2
() e A (B) SR =1 BT el
(C) e (D) FEEiEa |
19. A provision for education for the children with disabilities can be done through
{a) Inclusive education B) Mainstreaming
(C) Integration (D) None of these.
fyi9rr STereRt w1 fran W g g fean s W@ E
(A wuRfa fan g/ B) H& 9N H TRTH
(C) HHIHTT g D) T A T

20. Which of the following is not a characteristic of mental retardation ?
(A 1.Q. between 25 to 70
(B) Learning in a slow pace and unable to do the activities of daily routine
(C) Poor adaptation with the environment
(D)  Poor interpersonal relations.
e 9 | -4 wrfas w=ar oo 98 2 2
@) s T w258 70% 7e O
(B) i T ® e v S Stam i feestl ® 9 9 9
(C) IMETERY % MY FAJher H Hfoe
(D) =ToArss Tl %1 AR B |
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21.

22.

23.

: |
Which of the following is more important for keeping the good mental health of
students ?

(A Provision for curricular activities

(B) Freedom of expression

(C}) Variety of interests

(D) Teacher's role and school environment,

foenfefal % o= umfas @ &1 998 W F o e & 9 $F-ar 9l sifus meegef € 2
() W fFstl =1 yEEm

(B) Af9AE hi T

() &=l = fasa

(D) eATge =t yfirent Te femmer e |

‘Child belonging to weaker section’ means

(A) A child belonging to such parents whose annual income is low

(B) A child belonging to such parents who come under the disadvantaged group

(C) A child belonging to such parents who come under the category of below poverty
line

(D} A child belonging to suchpparents whose annual income is lower than the
minimum limit specified by the' appropriate government.

‘SR 1 H SR W aedd ©

(a) U sty F oo A T arfts amg w9

B) U afuweml & wrern | S oifem ol A o ¥

(© UF sfqeet & aere § S ST 3@ ¥ A St e H o §

(D) UG stfquraehi < arerehl | S TR g FHiRa =Aas S @ afie e @ | | e %
T H 3 € )

The Right to Education Act, 2009 specifies that if the number of children admitted for
first class to fifth class is above two hundred then the pupil-teacher ratio required is

(A) thirty (B) forty
(C) forty-five (D) fifty.

fran w1 et erfufran, 2009 o iy for wan @ o wven-1 @ =en-5 9% afs oo fd ™
feenfefzi =it wen <1 | ¥ st &, o faenefi-steare sawas TUE g

(A = (B) =TeiE|
(C) Hare (D) TEE |

I 361
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24. Which of the following statements is incorrect about action research ?

(A)
(B)
(C)
(D)

It is conducted by teachers and educational professionals
It is conducted to solve a specific problem
It is conducted to provide information for decision making at a broader level

It is conducted to focus on the solutions of day to day problems at local level.

forarees S o ¥ wery J fr9 & 9 - e we e & 2

&)
B)
©
(D)

T AR TE e =EaE 9 2 @i & grr T s @

Tz foredt Tafire wown & 9oum & ferg faan s @

= wROW R o F foe o dees & & Toe e o @

WHE &R W A9 & Taensii F goyr F ol s sramae i s ¢ )

25. Which of the following statements is not true about teaching ?

&)
(C)

Teaching is modifiable (B) Teaching is formal and informal

Teaching is a science as wellas art (D} Teaching is instruction.

e 4§ FA-w Fye e & s 0 g Aef & 2

A
€

forgror ¥ gun fovar 51 woha B (B)  Twer sfiw=ifr e I #
Torggor fagm & wg-w9 wen o ¥ (D) 989 v € |

26. The National Curriculum Framework, 2005 under'the heading 'quality dimension' gives
more importance to

A
(B)
(€
D)

Physical resources
Qualified and Motivated teachers _
Experiences designed for the child in terms of knowledge

Experiences designed for the child and curriculum reform.

T eTEEt F9@n, 2005 ¥ e SEm’ vieE & T oifus Hee fam @

&)
(B)
(C)
(D)
27. The

wifass ST &

fofera wa sfimifa 2regmast =1

el & o 31 & dqy § difom syl &l
et & fore Wifaa ofve td ToTHE gur @ |

National Curriculum Framework, 2005 suggests which of the following

examination reforms ?

A
(B)
(€
(D)

Class X examination optional
State level exams to be conducted at different stages of school education
Competitive entrance examinations optional

All of these.

LT [ P.T.O.
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28.

29.

30.

10 | A]
T e wuiEn, 2005 # = H ¥ frm wen gremdt gurl s g e g 2
(&) - X qden tfess ,
(B) forerdt faen =t fafim arereenedi T Tsg W &1 oden dweE
(C) wiaarft yaw vharedi w1 U=
(D} T F A
Reducing stress and enhancing success in examination necessitates
(A) A shift towards shorter examination
(B) Examinations to be conducted at different stages of school education
(C) Annual and half yearly exams
(D) Setting up of different agencies for conducting entrance exams.
T 1 HH H TE qhansd ¥ wwea # fag snavas ¥
(&) A oTafy W wamel § s
B) Toramersit fRvan =i fafus =Roi # wianst w1 EeE
() iR we ergEftie s
(D) Tafys gaw wiensti & fore fafss it =1 sgrom |
The purpose of evaluation is
F3Y) to label children as slow learner. and gifted children
(B) to identify children who need remediation
(C) to diagnose learning difficulties and problem areas

(D) to provide feedback on the extent to which we have been successful in imparting
education for a productive life.

AR H I ¥

(A) STETRl H T fa ¥ HiEn 9 ud gfanel aetl o ®9 H dee B

(B) TS ool 1 SUSREHS e +t EvThal €, 3] UgHH S

(C) <ITH & HicAEAl T THEN a1 &5 1 IaqT A

(D) RS wad S & g fren fFa @ o AR = g ®, 1 giEee weE e |

For primary school children, which of the following is better ?

(A)  Video simulation (B) Demonstrations
(C) Hands-on-experiences (D}  All of these.
werthes foremerdl o sl % fag fret § R sraw A ¥ 2

@ faSrEr s B) e

(C) @& & g fohan T e (D)  THI T

(L 101
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U - I
HTET - I
&<t
9 @S H F 30T ¥ |
[t 99 1A €
31. ‘fouem’ w= § 2
(A) T (B) = dfy
(©) fort dfy (D) &€ | FFE & |
32. ‘v’ W= w1 whu-famg g
@A) T+ (B)  T9 + ¥
(C) T+ 3¢ (D) T +7 |
33. &<t & o € €
> adda
€) dH (D) &A1
34. ‘AT’ 1 FgaEA M
A R B) RS
(C) TR (D) @ga=d &l &0 |
35. 5 wsal # 99 &% 319ER %1 ufigdy 781 2 § 3% e o 2
&) T2 B) fo=rl v
©) AfF=rt W= (D) YUEEY |
36. ¥R F Tl BT FH II9 FHIGT :
() o B) faftom
€@ TR (D) qom |

(LR
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37. ‘sfa’ = Sifen v €hm

B F4

© watEst D) et |
38. HERd ¥ ¥ W W R A o et wRad % v 9 € weam ¥

@ HEFd B) =

© A D) Bu |
39. w9 foelt wa ® 3 Wi wum ©F O 9 FE €

A TBEE B 5w

[C) wu= 99y (D) WYeY 9EE |
40. YE IR T

@)  svEE (B 3¥ad

(C) IS (D) S¥v&d |
41, ‘&GH’ = foeim v

(a) IH B) “fe

© = (D) & |
42, P i3 frnap d aftuss o € 2

@A) T, veH, Wy, AfA (B) M8, ¥d, ST, HRN

(C) s, fram, T, =T (D) Pz, =, wel, e |
43. Trau= ¥ 's’ Sywi & € ?

@) FIEY (B) P«

© FHH D) FIA |
44, ‘A YA R EN FA UK HgA R ?

(&) g B) A

© fu= (D) HE |

AR [101]
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45. T5E¥ v w8 HWeArara® €1 ok S et waE e Ay s 5 Fe E

46.

47.

48.

49.

50.

51.

52.

(A)  FHYE FHH (B)
(C)  sreHEIvE wHH (D)
55 W9 §

(A) e | (B)
(C) AR (D)

‘TR # & aren’ = e 9

(&) W (B)
(C) AmEY (D)
Sfdarees 9 Tl §

B e (B)
(C) et (D)

/= 4 9 g a9 o 99eH @R § 7

&% 9HH

fem w99 |

ey
TROMTE |

AR
AreRT |

SIFA
T

(A) ﬁ#m@m@aga?% SIE G
(C) T A R =1 e fou a L

‘g% w@a: g1 9 S’ H ‘g waAarm §
A)  IEEErEE TEH (B)
(C) T=E-YgRE TI919 (D)

g T =1 3T FH A ® 7

(@) T I (B)
(C) ¥ wiafed 9gd 3= U (D)
‘T’ A R e fR wed € 2

@A) S BTRE

B) SR 31 W@ | wHx § 371 S
(€ Toed wH i 3R sre fFand &
(D) Tood = 32y, U fade o us € fear & |

(A 101

Trarees g m
AfTyegaras a9 |

i 9g @ ®
e HI R |
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53.

54.

B5.

56.

57.

58.

59.

60.

14

"HTe SR S RT3 A o 3R9F €

(&) =BT B) e

€ g (D) 9RO

= A 9 fifgg a ©

(A) =W E W R ® H vgw g iR 9% Gea ¥
© g D) TgnETRHFAMIHATEY |
ot oF e A1 Sga w0 99y foew foum fag oy fF s € 2

() fowrmEeE g (B) oTEwO 91 S5 fug

© weErEs fug D) e foE

a&t fom fagt amen s &

(A) O S T, FET R ? B) S u S HE R R § 2
(© S T A A, FEAE (D) O Y, TS ST ¥, HET T
PR A T SE L. R AT e gEral | qof g 2

(a) o IEs SAEEE R Tg " T B | F & sEen 7 s

© H omwm far w331 e (D) Y W & 77T |

T Herew €

@ o ) e (B) At ¥ 3@ e

©) el ¥ y& g (D) ofel o = ST |

‘1Y 7T 3T’ @ HeTek i frheaw o1df ¥

(A) g H T I B) =gd =91 B

(C) Tei w1 =W H (D) ®1™ e |

‘T R S Afaa €

(A) TERT 3T A (B &SR B S
€) IR S (D) IS S <@ @I |

(MAHTHEN 101
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32.

33.

34.

35.

36.

37.

15
SECTION - II
LANGUAGE I

ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Choose the correct order of words :

a) Do you live where ? {B) Do live you where ?
{C) Where do you live ? (D) Where you live do ?
Which of the following has a correct sentence pattern ?

(A) He gave her a book. (B) He gave a book her.
(C) He her gave a book. (D) He a book gave her.

Complete the following sentence with the correct option :
The sky suddenly became ........................ .

(A) darkly (B) dark
(C) darkness (D) darken,
Which one of the following words isrfamoun ?

(A) Write (Bl Wrote
(C) Written (D) Writer.

Supply the correct pronoun :

Arun and Lata have a house. .............ocoennnen, house is quite big.
(A}  Their (B) His
(C) Her D) Theirs.

Pick out the verb from the following :
(A) Create (B) Creation
(C) Creator (D)  Creativity.

Select the correct verb form

Sachin has ..................... many records.
(A) brokened (B) broken
(C) broke D) breakened

(T [ 101 ]
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38.

39.

40.

41.

42.

43.

44,

t6 A

Fill in the correct form of the verb :

The train had left before I ..................... the station.
A reached (B) had reached
(C} was reach (D) was reached.

Complete the following sentence :

fwe .oovviiiiiinennne, a lottery, we will buy a car.
A) will win (B) have won
(C) won (D) win.

Supply an appropriate determiner :

IThave ...cocviiievnvcninnnnn. glass of milk every morning.

@A) the B a

(©) any (D)  some.
Supply an appropriate determiner :

My neighbour is .......ccoccevinnnnanne. honest person.

@& a. (B} an

(@) the (D) ( “any.

Which one of the following sentencesiexpresses ‘possibility’ ?
There are dark clouds in the sky. .......coeveiiiininnans .

(4) It will rain (B) It shall rajh
(C) It may rain (D) It must rain.
Pick out the sentence which has the meaning as the following :
No other animal is as brave as the tiger.

(A)  The tiger is a brave animal

(B) The tiger is as brave as any other animal

(C)  The tiger is the bravest of all animals

(D) No animal, except the tiger, is brave.

Complete the following sentence with the correct form of adjective :

Anupam is ......coeenvininnne, boy in the whole of the class.
{A} the tallest (B) the taller
(C) the most tall (D) the more tall.

(LI [ 101]
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46.

47,

48.

49,

50.

51.
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Pick out the sentence which has the same meaning as the following :
The last question was the most difficult question.
(A) The questions were very difficult.
(B} The last question was more difficult than any other question.
(C) Some questions were very difficult.
{D)  Only the last question was very difficult.
The father said to his daughter, "When will you return ?”
In Reported Speech the above sentence will be :
The father asked his daughter
(&) when she would return ? (B) when would she return ?
(C) when she will return. (D)  when she would return.
The teacher said to the students, “Be polite in your speech.”
In Reported Speech the above sentence will be :
The teacher asked the students
(A)  to be polite in their speech. (B} that be polite in their speech.
(C) to be polite in your speech. (D) that be polite in your speech.
My neighbour said to me, “I am goingiout for a few days”.
In Reported speech the above sentence will be :
My neighbour told me that
(A) he was going out for a few days. (B) he is going out for a few days.
(C)  he will go out for a few days. (D} we are going out for a few days.

The word ‘magnificent’ is similar in meaning to

(A]  very large (B) grand

(€}  huge (D)  royal.

The word ‘bliss’ has a meaning similar to

(A) happiness (B) anger

(C) darkness (D)  innocence.

The opposite of ‘similar’ is
(A) unsimilar (B) insimilar
(C) different (D) near.
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The word ‘approve’ is opposite in meaning to
A) A confirm (B) reject
(C) accept (D) return.
Pick out the word which is spelt correctly :
(A sinceerly ' B) sincierly
(@] sincerly (D) sincerely.
Which of the following words has correct spelling ?
(A) knowlege {B) knowledge
(C) knowlidge (D)  knowlige.
Which one of the following words begins ( underlined ) with a different sound ?
a) kite B) cool
() chemistry | D ity

Point out the word which ends in a sound ( underlined ) different from that in other
words :

(a) who B) flew
) slow (D) shoe.

Identify the word in which the middle sound ( underlined ) is different from that in
other words :

(A)  seen (B} hit
© heat (D) brief.

Which one of the following words has a different sound ( underlined ) at the

beginning ?

(A) sure (B) cell

{C) sell : (D)  psychology.

Point out the word which has a different sound ( underlined ) at the end :
() laugh (B)  graph

(C)  high (D)  half.

In which one of the following words do. the letters ‘th' have a different sound
{ underlined ) ?

(a)  this (B) that
(C) there (D) thin
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is an adjective ?

(A) Use (B) Useful

(C) Using (D) Usefulness.

Complete the following sentence with the correct option :

My grandfather walks very .................oo..e. .

(A) quick (B) fastly

(@] fast (D) nice.

Which one of the following has a correct sentence pattern ?

(A) She put all the books on the table. (B} She all the books on the table put.
(C) She put on the table all the books. (D) She on the table put all the books.

Choose the correct pronoun to complete the following .

This book is ........oovvviiinis , and that one is mine.
[A) our book (B) your
(C) yours (D}  yours book.

Choose the correct word order :

{A) Why she did leave so early ? (B) Why did she leave so early ?
(C} Why did so early she leave ? D) Why so early did she leave ?
Pick out the correct sentence :

(A) There are shop near my house. (B) There is shops near my house.
(C) There are a shop near my house. (D) There is a shop near my house.

Select the correct form of the verb :

She .....coovvivininnnn. the right answer.
(A)] knows 13]] know
(C}) is knowing (D) ‘known.

[ [ P.T.O.
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Fill in the correct form of the verb :
When the phone rang, we ............occoeeeeen. television.
(A) watched (B) are watching
(C] were watch (D) were watching,

If Radhika had received an invitation, she would have gone to the party.

The above sentence tells us that Radhika

(A) did not receive the invitation (B) had received the invitation

(C) 1is waiting for the invitation (D) did not want to go to the party.

Fill in the appropriate determiner :

The ring is made of ..................... gold.
(A)  the (B) a
{C) x(no determiner) (D) any.

Complete the sentence by putting an appropriate determiner :

You should always carry ................covev. umbrella with you.
A a {B) an
(C) any (D) “a few.

Manjit said to Anisha, “Could you piease open the window 7"

In the above sentence Manjit is

(A)  asking a question (B) giving an 1ﬁstruction
(C) offering advice (D) making a request.
No other member in the family is as intelligent as Raju is.

The above sentence has the same meaning as

(3)  Raju is intelligenter than any other member in the family

(B} Raju is not intelligent

(C} Raju is more intelligent than any other member in the family

(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adjective :

It Was voveeiii e car he had ever driven.
(A) the more comfortable (B) the most comfortable
[C] the comfortable (D) the comfortablest.
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Choose the sentence which has the same meaning as the following sentence :
Mahim got a higher grade than any other student in the class.
(A) Mahim got the higher grade than any other student in the class
(B} Mahim got a high grade than any other student in the class
(C) Mahim got the highest grade in the class
(D) Mahim got the high most grade in the class.
Mchan said to Savita, “Can | borrow your book for a day ?”
In Reported Speech the above sentence will be
Mohan asked Savita
(A}  if he could borrow her bock for a day
(B) if they could borrow her book for a day
(C) that could he borrow her book for a day
(D) if that he could borrow her book for a day.
She said to her brother, “Do not buy mangoes.”
In Reported Speech the above sentence will be
She asked her brother
(A)  to not buy mangoes (B) not.te buy mangoes
(C) do not buy mangoes (D) do not to buy mangoes.
The students said, “We want to learn a foreign language.”

In Reported Speech the above sentence will be

. The students said that

(A}  they want to learn a foreign language
(B) they wanted to learn a foreign language
(C} we want to learn a foreign language

(D) we wanted to learn a foreign language.

The word ‘courteous’ is similar in meaning to

(A) related to a court (B) impolite

(C) polite (D)  kind.
Which word has a meaning similar te ‘significant’ ?

(A) prominent (B) magnificent
(C) efficient (D)  important.

LT [ P.T.0.
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81. The opposite of the word ‘optimistic’ is

(A) pessimistic (B) hopeful

(C) ideal (D) dull
82. The word ‘innocent’ is opposite in meaning to that of

{A) clever (B) ignorant

(C) active (D) gullty.
83. Pick out the word with the correct speiling :

(A}  varaity B varietey

(C} varieti (D)  variety.

84. Which one of the following has the correct spelling ?
(A} impresive (B) imprescive
(C) impressive (D) impressiv.

85. Point out the word which begins with a different sound ( underlined ) :

(&)  house (B) home
{C1 honour (D) hen.

86. Which one of the following words ends in a different sound ( underlined ) ?
(A) city (B) sky
C} by (D)  try.

87. Identify the word which has a different sound [ underlined ).in the middle :
(A} foot (B) should
(C} wood Dy  food.

88. In which one of the following words does the letter ‘i’ have a different sound
( underlined ) ?
()  finish B} final

€ it (D) film.

89. Pick cut the word in which the letters ‘ch’ have a different sound ( underlined ) :

(A)  check {(B) chess

(C) chemical (D) chairman.
90. Which letter of the word ‘comb’ is not spoken ?

@A c B o

(€ m (D)
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8, 2uadl 8 d [As2dl B. cuzdla 22g{cell otial 211 s 2t @10l bid 8. well  wdepia
B d?

Q(i-2Ueolld HEd Seell, 2Heeycld R4 sediz, adiell a4 waelld Geellffia sz dl wel
2L AMSs ¥ obq ! [A2gell dectidl QeI azeid el Pietetoll umlal Well dzotln 52. sfan1A g6,
B, 212, d, And, oAl 20 Aaqeyfad sudvll B. 4615Q sUkeRd Nagda’ 1 asrivddl [@e
aled Gese dld @sa 53l 8. 2 sruzielidl sfiee Elepue 1l ! ugki-yaueu (el
dSlel, 73201, 21273 Al [Bicstoll glael SSBdel Sikel & !

et oitdi o uzgPRi sloll 21 st usl va & ?
(A) a2 (B) sl 2pia
(C) eals (D)  2sdsel.

dollyd Sla 21 B ?

(A)  2igla (B) Gifi-ajedl
(C) wel (D} awélell 2pia.
L uRBeni 58 >bdal Herddl Ll & ?

(A)  aul (B) R

(C) &ia (D)  agia.

ug1vell [Aeesad] avle avi a2f & ?
(A)  g6L (B) ¢
(C) Auga (D)  21R0u.
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Section -IvV /s @us - IV
MATHEMATICS / Tifurd
There are 30 questions in all in this section.
All questions are compulsory.
WEREHFH 30THE |
|t veA sifar ¥

91. Write the following four numbers in descending order :

I. 4203567

I1. 4203657

I, 4203756

IV. 4203675
{A) I, 11, III, TV (B) I, IV, 1 1
(&) I, I, IV, 111 (D) I, 11, IV, 1.
frafafed =) demet f1 FEtE w09 9 e

I. 4203567

I1. 4203657

. 4203756

IV. 4203675
a) I II, II, IV (B) I, v, I, I
(C] L1 IV, 1I (D) I, 11, v, L

92. One crore is equal to

(A) 100 lacs (B) 1000 lacs

Q 10 lacs (D) 100 thousands.
TF FUg TR T

(A) 1009 E F (B) 1000¥™@ %
(C 10T/ H (D) 100&9H & |

(IR 101 | [ PT.O.
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93. The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as
(A) 59004988 (B) 590400988
(C) 509049088 (D) 50904988.

&A1 5HUS 9T 4 TAR 9 I3 ! i) § formy W ww e
(A) 59004988 B) 590400988
(C) 509049088 (D) 50904988.

94. The population of a village is 78692. Out of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is

{A) 20883 (B) 21883

(C) 20893 (D) 20783.

TH TE W Fo SHEEA 78692 ¥ | THLE, 20642 FFH 28167 Afeard € g AW v ¥ 1 @
< Ft Hew §

(A) 20883 (B) 21883

@ 20893 D)y 20783.

95. If we divide zero by 60, then the dividend, divisor, quotient and remainder are

respectively
A} 0,60,0 0 (B) 60,0, 1.0
€ 0,60,01 (D) 60,0,0, 1.

YA H 60 F YR 37 T 9, WIS, IITHE Td A FA9: §
(A} 0,60.0 0 (B) 60.0.1,0

{C) 0.60,0,1 (D) 60, 0, 0, 1.
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96.

97.

69
The value of 15 coins of 25 paise each is equal to

I. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 palse

I1. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 palse

III. 3 coins of one rupee + 3 coins of 25 paise
IV. 3 coins of one rupee + 2 coins of 25 paise.

In the above four, the wrong statement is

A I B) I

& 1 D) 1V.

25 %7 F 15 fawi =1 7F SO
I. %o+ 3 faadk + 5098 1 1 fawem + 259 %1 0= T
1. T %o % 2fae% + 50T & 3755 + 259 %1 u= fa=an
. T %o % 3fees + 25 & 35+
IV. TR F 3fees + 25V & 2T69a

STY® 9/ H ¥ Ted FOA
@y 1 B) 1
Q) 1 (D) IV.

The arrangement of the fractions % . % . % . % in ascending order is

MERNN
ﬁﬁﬁ% %,%,%maﬁﬁmm%
MERNN

L-1

[ P.T.O.
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98. If the cost of 5 pencils is 3% rupees then the cost of 2 pencils is
@ Re> B Rs.3
4 2
€} Rs. 3 (D)  Re. 3 -

gfe 5 4faell &1 ge9 32 o ¥, 1 2 Afwell &1 = &

3 3

(a) a To (B) ) To
4 2

Q) 3 To (D) 3 To |

99. Which of the following statements is true ?
(A) 1 is not a prime number (B) 1 is a prime number
(C) 1 is a composite number (D) 2 is not a prime number.
fefdFR-w s € ?
(A) 13T Hew 6 R (B) 13w He e
C) 1¥gFFEe (D) 23nTa e T ¥
100. The prime factors of the number 720 are
(A) 2x2x3x3x2x5 (Bi 2x3x4x5x86
(C) 3x3x4x4x5 (D] Zx2x2x2x3%x3x5.
& 720 % 3194 OGS §
(&) 2x2x3x3x2x5H B) 2x3x4xHx6

Q) Ix3x4x4x5 (D) 2x2x2x2x3x3x5,

TRV 101 ]
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101. What iIs the highest common factor { HCF ) of the numbers 425 and 476 ?
w4 (B) 5
< 17 (D) b5l1.
HEAISA 425 991 476 F1 HEWH WATANE ( Ho Ho To) #
(A 4 (B 5
(] 17 (D) 51.
102. What is the least common multiple ( LCM } of the numbers 90, 60, 75 and 35 ?
(A) 2700 (B) 6300
(C) 4250 (D) 2750,
FEsAl 90, 60, 75 791 35 AYAH THYEHE ( To HWo Yo ) &
(A) 2700 {B) 6300
(C) 4250 (D) 2750.

103. Five persons paint a house in 3 days when they work 8 Hours everyday. Then if one
person works 4 hours everyday, how much time ( day } will he take to complete the

same work 7

15
(A) 30 (B) U
o 3
(®3] 5 (D) 10 -

T T F1 qae 5 AMH, 8% U9 W F 3fF d Fw & @ 1 =fw, 4 ¥ U9 W w0
IW T T fee fe7 § = 2

15
@ 30 B 2
© ¢ o <.

(L [ P.T..
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104.

105.

106.

72 [a]

The marks obtained in 4 subjects in an examination are 200. If the average of marks

obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?
(A) 50 (B] 144

(C) 152 (D) 56.

T Wien # 9r fawd § W Fo e 200 ¥ 1 afe 99 fawat § ym i) @ oftwa 48 % @ =g
fowa § ym 3w B

(A) 50 (B) 144

{C) 152 (D) 56.

A person sold a cycle at Rs, 935 with a gain of 10% then at how much amount did he

purchase the cycle ?
(A) Rs. 945 (B) Rs. 850

(C] Rs. 925 (D) Rs. 1,085.

U Safd 3 TF GEfFd 935 %0 H 10% - oi¥ T o= al 38 38 gr3fehat fhad To o @ler off ?
(4) 945%0 (B) 850%0
C) 925%0 (D) 1,085 ¥Fo |

A person took some loan from a bank at the rate of 15% annual interest. If he pays

back Rs. 7,250 after 3 years then what is the amount of loan ?
{A) Rs. 5,000 (B) Rs. 4,500
(C) Rs. 6,500 (D) Rs. 5,500.

T =f® A TF | TS T 15% qfeE = w R W IR feran | v W 9) =@ 7,250 To
e o &, A 39 Fora waan SUR foan a1 ?

(A) 5,000 %0 (B) 4,500 %o

{[C) 6.500%0 (D) 5,500 %o |
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107. What is the interest on Rs. 500 for six months with a rate of interest 8% calculated six

monthly ?
(A)  Rs. 20
(C) Rs. 48

500 o F 6 HEM F 8% ! BUEI T § =TF &

A) 20%0

[C} 48%o

(B)

(D)

(B)

(D)

Rs. 30

Rs. 40.

30 %o

4070 |

108. A person X sells an article of Rs. 100 with a loss of 10% to the person Y. Y sells it at a

gain of 10% to another person Z. What is the price at which Y sold the article to Z?

(A) Rs. 100

(O Rs. 110

(B)

(D)

Rs. 99

Rs. 101.

T = X, 100 To i a8 &, 10% & eH § Al Y@raGm e | Y, 349 & 10%
Av A A ZzH 99 WE, T Y 3 F9 [og Wawg Z & 54t 7

A 100 %o

(C) 110%0

109. Which is a plane in the following ?

(A)  Paper sheet
(C) Ball
et el § A - T £ 2
(a) &S
© e

IHHLEE

(B)

(D)

(B)

(D)

(B)

(D)

99 %o

101 %o |

Glass

Cylinder.

| P.T.O.
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110. Which of the following statements is not true ?
(A)  The figure formed by two rays passing through a point is called an angle
(B) A closed figure formed by three line segments is called a triangle
(C) A figure formed by three lines is called a triangle

(D) In a rectangle the length of opposite sides is same and each angle is a right

angle.

feaddsR mawE T ?

A) T = fag @ oW Tt < ol @ a6 e # #o wed §

B) Trsl 97 mmaEvel ¥ fat g 9< Tt 7 e wen §

() ot = wst @ futt oFfa =i e wed §

(D) 3T9d &I STHA-TEA &t el &) =TS SHFE g § T T S0 IR0 e €
111. Which of the following is true for 4 triangle ?

(A)  All the angles are always acute angle

B) One angle is always a right angle

(C)  One angle is always an obtuse angle

(D) One angle is always an acute angle.

faR mF e fd A sF-w w2

(A) HE HI Fed F HI ET §

(B) U IV Hd WAHI B0 §

(C) TU&F v Fea Ffusk +im g &

(D) & S0 ¥H 7 HI0 A & |
IHARRRTAn



(2] 75

112. How many triangles are there in the following figure ?

A) b (B) 4
C 3 (D) 6.

o ot 3 Tt Foger & 2

A 5 B 4
) 3 (D) 6.
113. The sum of all interior angles of a square is
A 180° (B) 360°
) 270° (D)  none of these.
=1 & | = w1 A g @
a4 180° (B) 360°

(C) 270° (D) 79 | =8 == |

L-1

[ P.T.O.
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114. Which of the following statements is correct ?

115.

(A) A square is a particular type of rectangle
(B} A rectangle is a particular type of square
(C} Every ray is a line segment

(D)  Straight angle is of 90°,
fAaddsh-wFrmaat ?

A) T TH fa9y yer w1 HEd g

(B) 3T9d T fa9e yR &1 =1 g ®

(C) Wi fehtul T {EraEvs el @

(D) 9 / T HIV $F A9 90° Bl @l

One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres, Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?
@a 3.9 (B) 30, 90
Q) 3,90 (D) 30, 9.

ot #em 1 TE wF AT ¥ 250 @ e weA ® | TF @igSt 75000 A A gt & (@ W
fa wapt @ R 3 ferht #1 s ¢ 0 & fog 3@ o fae wE @M g 2

A 3.9 (B) 30, 90

€ 3,90 (D) 30, 9.

R 101
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116.

117.

118.

77 L-1
On subtracting 8 metric tonne ( mt } 50 kilogram from 12 metric tonne 8 quintals we
get
(A) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg
(C}' 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm,
12 tifes o= g faa=a § ¥ g Hifeswr =7 50 oo™ e W w8 ¥
(A} 3Tz == 8T B) 4w 27 7 feded 50 feren T

() avifgsw 27 8feead 50 fven um D)  3Hifgw =7 gfaEea 50 el T |

A tank has 400 litre water. If 12 litre 500 ml water is used from it and the remaining

water is filled in 25 cans of same capacity, then what is the capacity of each can ?
(a) 121t 500 ml (B) 13 1t 500 ml
(C) 151t 500 ml (D) 14 1t 500 ml.

Teh 31 § 400 AR AT & 1380 ¥ 12 Wi 500 foelieier oAt &) o &9 & o5 99 1 &t
T &9 & 25 fesl § 90 91 @ Taemfessh aEal ¢

(a) 127 500 e (B) 13 500 Tgei
() 15t 500 faat (D) laet 5009 |

Which of the following statements is incorrect for the time taken by big hand of a
clock to reach from one digit to exactly next digit ?
(A) 5 min (B) 300 sec

Q) 1172 hour (D) one hour.

ol ? 98t g€ & Tdl oiw A I T oiF v TEen | O arel wa & foe e § @ -
AT ?

(A) 5fe (B) 3009 *=<T

_L .

C) p¥ (D) & H |

(LI [ P.T.0.
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119. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted field is
(A) 1100 m (B) 525 sq.m
(C) 1100 sq.m (D) 525 m.

T AGar$R HgH &) A1 60 W a9 9rgE 401 £ ) 3% WXl iR «ed WE 56 e §
U @S ST o) S e diefl S8 1 SEd

(A} 11004 (B} 52597 Hi
() 11009 = (D) 5251 |

120. A rectangular photo frame X is of 90 cm length and 70 ¢cm width and a square frame Y

is of side 80 cm. Then which of the following is correct ?

(A) Perimeter of frame X is 6300"sq.cm

(B) Perimeter of frame Y is 6400 sq.cm

(C) Perimeter of both X and Y frames is same and is equal to 320 sq.cm.
(D) Perimeter of both X and Y frames is equal to 320 cm.

TF AR fos o o X1 oemrg 90 Wt g <ig® 708 ¥ ok U iR wH YE =
godME A fAd R FF-wFA aa § ?

A) WA X % 9EY 6300 7 AF gm
(B) W Y &1 ITAT 6400 I7 {H TFM
(C) o WHI X 9 Y & 9iEY SUel ug 320 91w g

(D) o %Al X 991 Y& 9T 320 A9 & 90K BN |
T
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SECTION - V
@|ug - v
ENVIRONMENTAL STUDIES
qIiaRoT area

There are 30 questions in all in this section.
All questions are compulsory.
FEEHTH 30T |
[t w7 Al € )

121. Nuclear family refers to

(A) any family born after 1950

(B] family includes parents and their children

(C) entire family including children, their parents and grandparents
(D) only husband and wife,

THd IER | qed ¥

A) 99 1950 % = o1 9fEr

B) uiEr faad Ama-fua wd 39 o=

€ ol ufEr faed o=, 37 mar-fuar o <R-et

(D) o 9fa-get |

122. Tobacco addiction is due to

A

(€

Cocaine (B) Calffeine

Nicotine (D) Histamine,

g H 3ned fohe @ Ft ® 2

A)

o)

HTehA (B) FHIA
faamifes (D) few=dT

(L] [ P.T.O.
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123. What are the minimum ages for marriage of boys and girls in India ?
{A) 21 years and 18 years
(B) 18 years and 21 years
(C) 18 years and 18 years
(D) 18 years and 16 years.
d H @5 a Tgfwal i foame 9 JTae g o € 2
(A 21994 189
(B) 18=4 9 21494
) 18=d9 18ad
(D) 18999 l6dY |
124. Main occupation of people of Rajasthan is
(A)  mining (B) |bakery
(C)  poultry farming D) agriculture.

ToRYE F Tl 1 g oAy #

w = B) I
(C)  HigreH (D) & |
125. Which of the following places of Rajasthan does not have sugar factory ?
(A) Keshoraipatan (B) Nimbahera
(C) Udaipur (D) Bhoopal Sagar.

oA Y T 4 @ f6e TR W e 99F 6 SREH TRl & 7
(&) FHIETagEA (B) fErsT

((SEEEE (D} YU AR |
TR
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126. In case of fraud or unfair business behaviour, we should lodge a complaint at

127.

128.

A Consumer Protection Forum

(B) District headquarters

(C) Tehsil

(D) Gram Panchayat.

Tt StuEn srfud AR SA9ER &1 T W faema & aifen
(A)  IUHIH WYY T Y

B) foen e S

() wEEe =l

(D) W 4=Ed i |

How many members of Rajya Sabha are nominated by the President ?
(A) 12 (B) 18

€ 20 D) 22
T gR1 Teaa H fere wee T € € 2

A 12 (B) 18

) 20 (D) 22,

District industry centre provides employment to urban and rural youths under a

scheme known as

(A)  Prime Minister's Gramin Sadak Yojana
(B) Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana.

(LRTLERL | 101] [ PT.O.
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fen sEim %= 59 Gier % q8d Y80 T U ga@i ) AR HE 9T S § 2

A)  wuEEH A FSF G
B) FUHHA TSR A
(C) wEREl T wgfg A
(D) &u JaM I SO G |
129. Which country has the maximum number of tube-wells in the world ?
(A) America (B) Australia
[C) China (D) India.
HER ¥ Hfeean cgeaa fragud g ?
() erafE (B).  emfer
c =M (B} 9Fd |
130. The Gangaur festival is celebrated on
(A}  Chaitra Shukla Teej
(B) Shravan Shukla Teej
{C) Bhadrapada Krishnapaksha Ashtami
(D) Chaitra Shukla Navami.
TMIRIR &1 TR /A S @
@) o e 9 H5
(B) FEY YEA T H
(C) ¥TEUE FOT9& TEH &
(D) IF Y& FIH HT |

(L] 101
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131. City of Lakes in Rajasthan is

(A)  Jaipur (B) Jodhpur
(C}  Udaipur (D)  Ajmer.
T § Fiwl w1 TR

(A AR (B) SUR

(C) AR (D) 3SR |

132. Who built the Vijay Stambha ( Tower of Victory ) ?
(A) Maharana Kumbha (B) Maharana Sanga
(C] Maharana Pratap (D) Maharaja Jaisingh.
oo wy fopet siamn 2
(A)  HEHET g (B) " HeTn
(C) WEwTen ¥ar (D) WEWST FAEE |

133. Following traffic sign indicates :

(A) Major road (B) Pedestrian crossing

(C) Railway crossing (D) Narrow bridge.

I 101 | P.T..
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fr=ifera ardamE dohd &1 1Y @
(A) TE=HsH B) Ted wy
(C) Yo wifEm (D) EHd Y |

134. Full form of ATM is
(&)  Automated Teller Machine
(B)  All Time Money
(C)  Automated Transfer Machine
(D}  Audit Teller Machine.
TETH F O w9 §
(A) STEmT TR AIA
(B) 3T IEH WA
(C) RS FEw T
(D) =fee o wWemA |
[T 101
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135. Message sent by computer is known as

(A) SMS

(C) E-malil

HIG & AEAH § 99 9 A How F FEd ¢

(A) THEATH
(C) ¥Fa
136. Carrier of Dengue disease is

(A)  Aedes mosquito

(C  Housefly
<7 T F AEH &
(A TS A
(C) =g geEt

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

137. The biochemical laboratory of human body is

(A} stomach

(C) intestine

e ¥ TR 9 Sa-Tamati wee ¥
@) IEEE

(C) =

101

(B)

(D)

(B)

(D)

L-1

FAX

Telegram.

Ccipic i

Culex mosquito

Anopheles mosquito.

AR A= |

liver

kidney.

TaF |
[ P.T.O.
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138. Aim of Pulse Polic programme is

(A) treatment of Polio

(B) stop paralytic effect of Polio
(C) complete eradication of Polio
(D) all of these.

vou et FRiwA w1 38w §

(&) e #1 ITER

(B) dIferdl @ I T Y A
(C) Wferdl 1 gegul IR HE

(D) A8 9§ Tt |

139. Kashmiri Gown is known as

(A)  Firan
(C)  Bugtari
FEER = wEea §
(a) fr=
(C) IR

140. Habitat of Dog fish is
(A) River
(C) Lake
1 ASE! & TEE §
)
© i

(B)

{D)

(B)

(D)

(B)

(D)

(B)

(D)

LI 101

Angrakhi

Achkan.

AGHT |

Pond

Sea.

HE
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141, Full formm of CNG is

(8) Common National Gas
(B) Compressed Natural Gas
(C) Common Natural Gas

(D)  Certified Natural Gas.
et &1 9 w9 §

(A) HEF WA g

(B) HHTE Id 14

() A T=Re 19

(D) wfewEs T=Ra 19 |

142, Wildlife Week is celebrated on

@A)

(B)

€

(D)

1st October to 7th October

15th October to 21st Qctober

1st June to 7th June

15th June to 21st June.

o= 19 T WA W §

@)

(B)

(&)

(D)

1 R ¥ 7 IHR Th
15 TR | 21 3R T
1S 70 T

15579 21 53 TF |

L-1
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143. State tree, state bird and state animal of Rajasthan State are

(A) Khejari, Godawan, Chinkara

(B) Khejari, Peacock, Tiger

(C) Babool, Godawan, Lion

(D} Mango, Peacock, Tiger.

USRYM T % T g8, T4 Y&l qo U Swq h9: ©

@& EE, TreEm, fewm

(B) WS, H, 9

(©) 99gd, MeEY, I

(D) ST, HR, &9 |

144. In which state of matter, the distance between the molecules is minimum ?

(a)  Solid (B) Liquid
(C) Gas (D) Plasma.
el F1 g sraeen § e F Hea FY gl gAqH Bt € 2

I B ¥

© = (D) |
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145. Which state is known as ‘Tiger State’ ?
A Rajasthan (B) West Bengal
(C)  Gujarat 18)] Madhya Pradesh.
FA-H T TER R F AR R T @ ?
&) TS (B)  Uf¥em e
) T (D) HE WY |

146. Which of the following has maximum speed ?
A)  Air (B)  Water Current
(C)  Sound (D) Light.
frefafed 4 faas a0 sfuwas & 2
(a) w9 (B) S&U
(€ & (D) W |

147. Which energy is converted into electrical energy by a solar cell ?
{A) Chemical energy (B) Nuclear energy
(C) Solar energy (D) Magnetic energy.
TR 3 g T ool & fage o o sqen o1 At ¥ ?
(&) TErEfTE S B i S

(€ W i (D) wehia &l |
ITHITHE 101 [ P.T.O.
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148. Maximum amount of gas found in air is

(A) oxygen (B)  carbon dioxide
{C} hydrogen (D) nitrogen.

Tal H gaifys aen § i s gt g

(A)  ATeETSH (B) FTA SRATFIES
(C) wwEgEA (D)  HARZSH |

149. Renewable source of energy is

(&) Coal (B)  Petroleum
(C) Plants (D) - Uranium,
Fi FT AAHIONA WA &

(A) e (B) yfemm
© g D) gfEm |

150. Ozone layer is found in

(a) Thermosphere (B) Stratosphere
(©) Troposphere (D) Mesosphere.
3P T foerdt &

(A)  FHERRR | (B) TR Y

(C) SriERER o (D) fourewRd |

(UL 101
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INSTRUCTIONS / ﬁgr
{ Read carefully and comply / o= A e wE=T Hﬁ‘)
IMPORTANT I

1. In Section [l (Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
Language I in the Online Application Form.

"W |1 (W7 1) | I 0T % ! B Ee S St @ TR ar w ges anat @ w0 % w9 F e S o R

2. In Section Il (Language I} a candidate has to attempt the questions of the language which the candidate has selected as
Langua‘?e 11 in the Online Application Form. The Language I will be different t’rom Language
VS 1 BT ST ¢ T 3 T ST § e D 1 S S 2 1 5 8 S e 3 e b1 5 s @ o g

3. The candidate musi ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.
s OMR ¥iiT & T 1 T¥ JRAwT i WE A K

1. Read complete instructions carefully and fill the details from Sl No. 1 to 6 in the OMR Answer Sheet and Sl. No. | to 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising dun’ng scanning of your Answer Sheet,

vl =t oot w9 @ q%aa‘nmlﬁaﬂ‘uﬁounvﬁzqaw1ﬁ4ﬁmm(§ﬁz)ﬁﬁlaﬁmwﬁﬁ
foraor wt ar geamr £ At oMR ¥iiT it G % werawy TR A TR % S o @Y STErE am

2. OMR Sheet No. should be writterz in the space provided in the Question Booklet.
OMR ¥te e s i | 2 T FaiRa = w ot e el

3. The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates

will open the Question Bogklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90

¥ R & 96 T T 150 1 §) SR R o3 o o IR 8 o g S w7 = & b v g
150 V¥ & =t o g deA 3@ e €T 90 A §)

4. All questions are of MCQ (Multiple Choice Questions) type There is only one correct answer to each question carrying one
marl-: There will be no negative marking for wrong answ

TET & & TF WY H UF jaewed 8 a‘éf%lmm*ﬁmﬁu’rﬁﬂ i UE ¥ AT A & A o A

Ll ﬁ'&
5. Al question- other than language questions of Sections II and I shall be bilingual.
WY U9 % W77 A WU 0 U9 m & 1 % i Ay avt wvet & we fgvndig e
6. In any event of any mistake in any question/s, candidates will not be penalized. However no corrections will be made in

uestion/s during the examination. . .

et w94 % ford ot = foredl W T JwET T P ohen ey 8§ wvRl o el v o weie el s s |

7. Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet, Do not tear it off
from the Question Booklet. No additional paper shall be provided.
ferlt U % TE 1 dq WA G & A 0 39 R STE 4w ¥ I wA g | 76 W) 5wt v Afafis e sueey @
Ferar S|

8. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary.or any other electronic item/instrument etc. is not
alIOWed Their use will rcsult in dlsquahﬂcatlon

o, fesfremmemt anfedt s=Esr Fserrie sy / = v afad &1 3T
wa’rrrwttrﬁw muu‘rfﬁa%mwmh 9

9. OMR Answer Sheet will be provided aionétwnh Question Booklet separately.
OMR Y2, WA g & Wg

10. The Question Booklet will be issued to the candidate at 10:45 A.M. and the candidate must {ill ail entries in Question Booklet
and OMR Answer Sheet. The Question Bocklet seals shall be opened at 11:00 A M. After opening the Question Booklet, ensure
that any page/ question is not missing / not printed / torn / repeated. In case, you find any defect anywhere in the Question
Boaklet, immediately inform the Invigilator and get it replaced within 10 minutes by the invigilator. Warning Bell will ring at

12:25 P.M. and the last long bell will ring at 12:30 P.M.
T 7 YT W 10:45 39 |mﬁwwﬁmgﬁﬂmaﬂ?oun¥ﬁzﬁwuﬁ%ﬁﬁﬁ|m

&I Gie 1 H99 11:00 99 ¥ ¥ YT, YRR Ahie I8 ¥ o T 3md Pt G‘]F

T ¥/ o O ¥/ F R at %mmﬁq&a qsw%mﬁ:m ﬁmmaﬁaﬁ%qﬁzwﬁ’r %?ﬁaﬁﬁm

ﬁﬁmwﬁﬂz*tﬁma’\wﬁ 'ﬂggr z}mﬁaﬁﬁmmzswaﬂrﬁqﬂ aa’tz’rcmlzsoq?
t

11. Write your Exam Centre Code, Roll No., OMR Answer Sheet No,, Question Booklet No., Name and put your Signature in the
space provided in the Question Booklet as well as in the OMR Answer Sheet. i )
el 3§ QMR Wiz W WH W T % F HIF, Ul T, OMR ¥ H0, T R i, 7 e 1 o107 evann w1

12. With each questicn you will find 4 possible answers marked by the letters A, B, C & D. Read each guestion carefully and find
out which answer, according to you is correct. indicate your answer by darkening the appropriate circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use blue /black ballpoint pen only. Gel pens / pencils are not
allowed.

TRF T F IR IFRTF IW A, B, C 2 0 F Y ™ E) v A @ T3¢ 3 g I H T B I9EF I F OMR ¥z ¥ wEa
m%;m#mahaﬁﬁﬁmwsﬁmﬁwaﬁﬁmﬁ# el v et T 9 H A ITE B ) e 99 41 9ge = 9amm
|

Correct method :

CORRECT / 8 |\ 000 method : | WRONG / TR WRONG / TTeidl | | WRONG / 7TAd WRONG / TTF

O QO @ | OO0 Q00O [ Oe0®

13. OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the abave account
shall be of the candidate only.

QMR ¥iZ H T W%mmwﬁlﬁmmmounﬁzﬁﬁﬂﬁﬁﬁﬁﬂwaﬁma’ramzm:m
meﬁmlwmﬁqﬁaﬂzﬁ FH A A ® MERRT IR d ® g

14, No candidate should leave the Examination Hall before the final bell, The Question Booklet as well as the OMR Answer Sheet

should be handed over together to the Invigilator before leaving the E.xammatlon Hall,

T T | AR TE A W | W BTe o [ RTET S oMR WiE 9 W9 g 3 @ de

&Y TR ! B



